Rajasthan CET Sr. Sec. Level Answer Key. 2023

H [ ird is link ith
1 Which of the following bird is linked W

phosphorus cycle?

(A) Kingfisher (B) Pigeon

o bird (D) Guano
(©) Hum?%gag‘l:l[ i tr(a?[ § o 5
N -
()RR (B) ﬂv‘;lgg
(©) =i = W) 1
How many districts are desert districts in
Rajastha;? of i SR . %..?
A) 11 AB) 12
©) 13 (D) 10 &

The area of an equilateral triangle is 2543 cm?,
then its perimeter is -

(A) 50 cm .(B)' SOJBT c]n%;“o
(C) 60 cm (D). 30 cm < ad®
w FHaE B @ w2543 ¥R,
oo E - e

(A) 50 & (B) 5043 @it
(C) 60 ¥ ) 30

Cinnamon is obtained from which part of the plant?
(A) Bark (B) Leaf
(C) Flower (D) Root
T, UET % RRE W ¥ WIS e € 7
(A) B (B) uwi
y) Bl (D) =

Reliance Industries Limited will develop India's
first Multi Model Logistic Park in -

(A) Karnataka (B) Tamil Nadu’

(C) Rajasthan (D) Gujarat = - ‘
Frama e, fyfies & W &1 9eH Al wiew

siffeifees o s fopar smom
(A) ®AEH (B g
©) Tmarr;r_ ‘(D)W

Rheumatoid arthritis is a/an
(A) hypersensitive  (B) bacterial _
©) fungal (D) autoimmune

disease.

geras & T AT FL
(A), et (B) e
ﬂ e (D) Tt
.UBORDINATE %—;"; w o ¥ —
(
wfg; ﬁ (D) afts ol

: e\m- ;151’5

8
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13

Choose the most appropriate technical translation

of the following word :

Circular '

) g )

(A)

(C) fem (D) af

If llogzlj,lx‘-—-—é—, then x is equal to -

1 qUET & —

(A) 3 AB) 9
©(0) 27 O 3

Rh factor is an aﬁtigen situated on the surface of

(A) Red Blood Cells

(B) Platelets

(C) Lymphocytes

(D) White Blood Cells

Rh e T AT & il (b EARIRE

T Red &l 2

(A) W BT B0
AB) T

(C) TeraTzed

(D) o BT &9

ey /& ¥ @9 o1 qHE &7

(A) wgifs (B) eredivma

© fag AP) wHEaTE

Golden rice was produced to ‘reduce the deﬁcienby

of among people. ! .

(A) Vitamin A (B) Folic acid

(C) Magnesium (D) Vitamin B,

YT AT Bl SR |y A %1 HH B

&t & fg e ) | il
) et (B) Bt o

(€} et (D) Feerfr 4,

Which of th i e Tt s
Rassthigiin e following is latitudinal extension of

- (A) 23° 03' North and 30° 12' South

D

(B) 23° 30' North and 30° 21' North
(C) 23° 30" South and 30° 12
1(337);—27 ;3" 03' North and 30° 12' North
%ﬂwwmmaﬁsﬁwm%?
(A) 23° (3 ¥ g 300 12 giequy -
(B) 230 3¢ 9T g 30° 21" g9dqY
(©) 23° 30" af¥or et 300 12" gfqur
3° 03' w=X wy 300 12' 3=%

South
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How many minimum meetings of Gram Sabha are
compulsory in a year?

T D OE A N Rt e Ao aifrard 37
(A) 3 CAB) 4
(©) 3 (D) 2

Choose the correct indirect form of the given
sentence from the options given below :
She said, "We were thinking of selling the house
but we have decided not to". . '
(A) She said that they had been thinking of selling
the house but had decided not to,
(B) She said that they thought of sell
but decided not to.
(C) She said that they think of selling the house
but had decided not'to, '
(D) She said that they have been thinking of
selling the house but had decide not to.

ing the house

6 Population of a city is 1 crore. If number of live
birth is 85 thousand, the Birth rate is -

Th &L D e 1 w3 ¥ afy e s Rrgrad | |

o G 85 T ¥, A WA E - Qgeeo
(A) 85 L 85 Tovesess
(C) 0.085 (@) 085 .5

17 Which is named as ‘Dhand’ in the Thar Desert ? |

(A) Depression in crescent dune
(B) Artesian Basin -
(C) Playa in desert
D) Oasis |
(arr{)uwaff Gie' % AW ¥ DI T A F P
(A) TR STgHT T F T
(B) S&d é‘rﬁm
(C) weww §
) TEfE

18 . The median marks from the following cumulative
frequency curve is -

o et oafts o & A IS § -

]
1 1 .
T
% 01— i
1 ' i
0 0 20 30 40 50 60

Marks / Wi —=

No. of Students

(B) 45
“{("g 3;3 (D) 25

pvs21 O

19 VLOOKUP function used to :

(A) Looks up text that contain ‘V’

(B) Che

ck if two cells are identical

(C) Find non related records
(D) Find related record
VLOOKUP %@ & e & :
(A) =% 9= Goar & ford vV 2
(B) 3 979 @ TheH GHMGT & [T @ar &
(C) @I frem Yo gt R@ie gedr &
_(p) P g Feaié doam &

20 Famous painter Sahibdeen belongs to which school

of painting? :
" (A) Marwar ~ (B) Dhundhar
(C) Alwar o0 -
R ferrame anfieardir e 1 v S &
arifirg ¥ 7 |
(A) TS (B) et
t)oee
21 In aquatic ecosystem, the limiting factor for
productivity is -
(A) " water (B) air
(©) soil (D) light
U STl Wi ¥, Seresmar a1 gy BB
] '
(A) AB) arg
(C) war (D) warer
22 With which folk art is Jankila] associated? -~
(2) ;haq ' (B) Tamaghg
(©) Baharupiya D) Nautan)
anki
gl 8 Fi—aey e &0
(©) Fwoftry "fﬁi%""
23 Apersoln buys -
. Pens at ¢
iiiS[lClll issell them. at th l"atelce) fr?te = Pens ip ¥
Profit iy Percent 0 pen in =
Iy 2l
0 l a—{-
L Oﬂ“aﬁ“ﬁ%mgu% Mk
(4) 10y ol
(D) go,
e — |
In 0
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- . _r-auma s eighth from the lelit and Aman | &=

i seventh from the right. When they interchanged
their places among themselves, then Aman becomes

ﬁ_m,wn:n_._ from the right. Then what wiflBe Roma's
Position from the left? o

(A) 11t l\wa. _N:.,. 3

JA€) 13m (D) 10t S
ﬁﬂ@mwﬁﬂi%@iwﬂﬁ

: =Tt 3t
wﬁaﬁw_ﬂﬂwgﬁmﬂaﬂ% HT A
.w%ﬂﬂ_ﬂ i o o
Eﬂg%wﬂ%v i ’

mn@ﬁivaﬁ 2022 & g
(B) gth November, 2022 . 2 o
(C) 18th November, 2025

(D) 15t August, 2022 :

8 ¥
TSRATT B SRt ieh qrecdy 4 [raru
YT &g oy wgre - ey s e
SA) 9 ReamrT, 2022 =y < =t
(B) 8 wem=w, 2022 @ L

(©) 18 71gm=T, 2022 =5t
(D) 15 sp1&, 2022 =t

' ﬁ#ﬁi

R A R - R L e e

3 i of Rajasthan?

HM.MW@_.%M”MME#E ﬂwﬁ functioning of all state public
sector undertakings.

(B) To coordinate working of various state
enterprises.

(C) To serve as a clearing house for the collection
of information for all state public sector
undertakings.

(D) To issue guidelines to private enterprises in
Rajasthan. j

TR 3 WS SUhH ST ot Bt w1 ek 78t % 2

(A gm&ﬂ?ﬂﬁ%aﬁ&%ﬂmﬂ%ﬁﬂi

y AT i

(B) T % e sumdl & srivemen & sy
HTAT)

(© .ﬁyﬁﬁdﬂﬁ?ﬂﬁ%@nﬂﬁﬁmﬂﬂ%ﬂ
THH B TG GOSN TE TR AT )
(D) Towas § Rl wumt oy Tasn—fdar 2.m,

_uc If Swmu.m, then tang =19

afy oom.wum, A =5

B2 g2 __a ..
e = S T

_ ¢
26 The value of /772641 is - . -
V772641 w1 A ¥ — S
A) 871 (B) 891 M .
C) 889 D) 879 .
©) ( v. =

27 d%mm%mnﬂdaﬂﬁu_ﬂﬂ A B Wb BT AT

) ST T 9. gl wre

2

T & —

(B) =ret & 91T T wEren
(C) ®9T 9T HF 7 BT
(D) @1 & g el

054338

‘sTEEE g % Ty um weE T -
(A) #&s gam et

(B) &t ¥ W= € arer

(C) smwrET % 9y

AD) T | fat =

Hvs21 O, .

. b2 = a2
b
C) T _ x
: v o 2 fwlwnmw.
31 e |
1 m(xmavﬂo of logical Operators g
_.Q?N.:V o RO a5p SRR &
© XoR o
. 4 =
32 % Which one g
T th
(A) Shahpyrg -WWMMW%:W._M Wrongly matched”
AWU Khedapa . Ramdag mmb._..
MUU mEm:Ep_ ~ Ema?mwwr
) Ren M Um&%mﬁw ;"
P o 3
o r%gﬁﬁqﬂﬂ%mwv

33 The cube of 1¢, m_m
10T ey
(A) 103030

(C) 1050501 (B), 1040401

\(ﬁ\u_ 1020201
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34 ‘wfra o @l &1 O ¥ B ¥ -
) i G (B) R e
(C) =g fem - (D) s fean

35 In order to get a diminished, yirtual and erect
image, the object can be placed anywhere in front
of a — mirror., _

(A) concave

(B) plane

(C) either concave or convex

(D) convex
Pt weg (i) 1 BYe, SR T W Wi W
FT ¥g 5 I % O e o T
Al &1 _ _

(A) orEad
(B) @
(C) = i oraw A1 A

By saw

36 Choose the correct antonym of the following word.,
from the options given below :
Encourage P

JA) discourage
(C) persuade

(B) incite
(D) aid
37 Which of the following is India's first privately
developed Rocket?

(A) Vikrant-S

(B) Vikram-S
&) PSLV-G

(D) PSLV-XL

Pretfafae o & B W A
Rrepfr e 7

(A) Pmpic — T

(©) g —
ﬁuvﬁmmﬁmwnﬁﬁﬂ

famous for black pottery? -
(B) Sawai Madhopur

.ﬂnﬁw%wﬂﬂq

38 Which place is
(A) Bansward

39 Geo-stationary satellite revolves at
(A) Fixed height
MWW M_Q _:m_mm_.: above the poles
; eight which depen its |
(D) Any height ek PO it s
y-feert SuwE gEa € -
(A) Rat &9 9T
(B)- Wmu ¥ I feelt $9E ¥
e ﬁmﬂa i geaH T T B
(D) Fpeir h Surd 7T
Y |
40  Whosis author of Amarkavya Vanshavali?
(A) | Jagjivan Bhatt (B) Sadashiv Bhatt
(C) mmwgrrcn_ Bhatt (D) Jeevadhar

ﬂﬁﬁmﬁ%ﬁ@mﬂ%f
(A) ; ES ) waIiE WE
JE) TBIE WE D) et

ok
41 C:amﬁ%?nr ‘Article of the Indian Constitution
the Goyernor can reserve the bill passed by the
_mmm%an for President’s approval?
(A) icle 257 (B) Article 213
(C) Hatticle 200 (D) Article 256
SRef% fea o & ded e e W
.ﬁ.&ﬁ?&?ﬁﬂﬁ%@&%@@w@%

7@ wHaT € P

K ﬁ 257 B) e 213

(©) 200 (D) ergew 256
5]

42 Partisdp elections for Panchayati Raj bodies was

_ recommended by -
(A) 4 hok Mehta Committee

Amu ‘W,Wwono_samamn. ,
(C) diq Ali Committee . ;

(D) K Santhanam Committee
(A

t&m %Mﬂw @il
(C) e et S

(D) @v e |

g

43 éron_wuimn_o_w regarded as the father of the India's
m_uwnmimqom_.m;aam@ i ’
(A) Dr. Vikram Sarabhai
(B) Py A.P.J. Abdul Kalam
©) MU Panchanan Maheshwari
(D) mu Homi Jahangir Bhabha
it st & e R ST S 7
) =1, famn ATaHE
(C) & dar sl

C Chittorgarh (D) Jaipur
W%?%%mm&&?n%ﬁﬂ]%ﬁ
(A) arEEET (B) @& AN
W fadETe (D) wEgT
5
avs21 O

(D) @& €y STEri Wy
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44 “Zero Hour”

implies the - )

Qyw exact time when the question hour M:wﬂmm:

(B) time allotted for r:ao:”am_ discussion be
two stages of discussion on a .u._:. )

(C) Specific time allotted for a discussion on
budget. A

(D) time between question hour and next item on
the agenda when the members raise any
matter without permission of the chair. :

WA o S R ¥ o[ 1 GNer ¥ 7

(A) % & TG S U B FATH Bl & |

(B) T frdass ux == % < =il & g aFniE
Tt & fog endfea wwa

(C) = wt wat % Ty smfen fafire @)

(P 7w iR w9 ot e % A &
TN W U ARgE B T H 9T @I

in Indian parhameliiaty =r=rm

oo wom )

When in the system input, process and output are
known with certainly, such system is called :
(A) Close (B) Probabilistic
) Uﬁn:d:%:n %_Mvﬁ Open
T UH YOI ) 9 ey UEw |
e WG &, 98 ﬂwuﬂmm FEA ¥ ki
(A) st (B) =

) T (D) &=

46 s a process of translating a task into a

series of commands that a computer will use to
perform that task. E

(A) System Analysis

(B) Coding

(C) Maintenance

(D) System Design

 U% % i erael o gaen ¥
w7 U WhEAT ¥, T e oF &l
TIGAT B |

(A) Taen Tageror (TafafiE)
B =i

(C) e (vayem)

(D) fyem fesmga

SHATE H
FLT % fog

47 What is function of Rural Non-Farm Development
Agency (RUDA)?
(A) To develop Non-farm sector
(B) To develop oacnmzo:m._ Sw.:Ezc:w
(C) To provide electricity in village

(D) To develop agriculture S
apdrer et famrg wiaesor (€51) @ wr o %7
(A) -t @ &l
(B) faran graaredt o Taera
(€ araf H ferrei—guere HIl
pvs21 O

49

50

31

52

substance. It works by
(A) reduction
(©) Enmn?:m

(B) adsorption

(D) oxidation

AR ﬁﬁﬁm@??ﬂﬂ»%?&%?ﬂ%
¥\ T e T F AN B S 7

(A) e 4B) siftrsirem

(C) Frtwm (D) &radienLT

28 . What

The average of 8 consecutive integers is >

is the average of first three integers?

, 23 : :
mﬁﬁ%ﬁang;mﬁ%%ﬁ

,
ol an ¥ 7 R3 8 Y
(A) 8 w9 K 4
(€) 10 (D) 7

D9 tonn 2 -

Which one of the following Samskaras is related
to birth?

(A) Mosar (B) Samela
(C) Jadula (D) Bindoli
e % & B g W Y gefng 7
(A) =&t (B) =&
\Bu S (D) T2

“For what value of n, (x+a) is a factor of
hxz +nzvq
(A) Only for prime values of n

_(B) Only for even values of n
(C) Only for odd values of 5
(D) For all values of »

Mu:w“m._w_mm A % fg (x+da), hkz..ﬁ..nzu B U ugque
&) 7% S s % R
(B) n % Fast w9 wEi % fig
(©) n% Faw faum Wi % fro
(D) n® R ﬂsuw F T
"Chambal Project i joi §
e m&.mwzﬁsnm _.__w w _.__M.__MW venture of states of :
(B) Rajasthan and Gujarat
(C) Rajasthan and Madhya Pradesh
(D) Rajasthan and Haryana ,
e ANET R et ) g &
i Moyt SEE aﬂ&gﬂ % 3
(B) T &R oo
AC) T S ey wey
(D) TSRAM ST By
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T e i e

Toveiele ML FEAAREEEE - CWERes T

I -
He took ages the job. 5
(A) above (B) beneath _mc_um_._ﬂzﬂ.na for the given sentence ;

(C) of (D) over ) «H_.Mmrum:oa of life in which a person is old and

54 Where m:a Chief Minister Ashok Gehlot lay the y\ﬁmv Impecility (B) Senility
wo:.zam:.o: stone of Dr. Bhimrao Ambedkar Law (C) Superannuation (D) Dotage
University on 16 November, 20227
(A) Jodhpur B) Bagr p G
©) Kishangarh MU.W PM_M_mw 60 Hﬂ%wﬂmw the following igneous rocks are found
16 T, 2022 F e HA @9l Tewd A (i) Gabbro
M% &égv amaseT faft Rasafremed @ arariwr (i) Granite
A) ) 3 ” + + (iii) Rhyolite
MOW fperTe 7 (MNM. ﬂuﬂmgm_m_ww e B Basalt

. .w._QPw (ii) and (iii) (B) (iii) and (iv)

55 A sum of money doubles itself at compound (C) (i) and (iv) (D) (i) and Qw ,
interest in 15 years. In how many years will it Pﬁ%ﬁm@%%.iﬂﬂ#ﬂ%waiWw
become eight times? (i)
n&ﬁ%ﬁﬂmwﬂﬂ@&m&m%%iw_ (i) e

ast % @ ome YA & S (i) T
) 45 (B) 60 y
(C) 75 (D) 30 (iv) e =
UAF (i) = (i) ©(B) (i) = (V)
56 “gowaraw T ¥ © @3 ® GaE .
A) T (B)
© L2H @) foreel 61 Choose the correct option.

7 What is reason of frequent occurrence of drought Hmumw_.w m_:u:__a be written in a language that 1s -
and famine in Rajasthan? (A) i o.:zm
(A) Irrational use of water (B) stylish
(B) Sail erosion (C) brief and to the point
(C) Drregular rain (D) roundabout a lengthy
(D) Deforestation . 37
dﬂﬂimmﬂ&nﬂﬁmﬁﬂwﬁg% e —— .

(A) it @B srferdeyet ST i ) : .AW
(B) - it T BT (A) R ) e
() airafra st (©) sird (D) “Rygre
Oy = B e o
” 63 The i z 7
8 Ctl+Y is used fo : mmdmmﬂwﬁﬁmm MMm ms,_:or m. n.mh_.uo:mm.“ ore is heated
(A) Close a document it e v.n_ nce of limited air to convert it
(B) Redo or repeat last action o.z_ e is called -
(C) Undo last action () Recliotion (B) Calcination
(D) Align a nﬂwwﬂ“r ; (C) Smelting (D) Roasting
Ctrl +Y @1 STl E G ¥ s Rt ng
(A) s T B @ B % R it b fig %%«ﬁﬁﬁm@%ﬁm
.\ﬁwh\%ﬂ@aaﬁmsﬁ%y% b Bl Lo W waRerfy ¥ goar &
() e foren e @ % fg _ , A ¥ ~ EEl
(D) s gt At F R (A) st ®)
(©) v
uvs21 O : ; AD) w5t
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64 Which of the following ERESE= 5o =
“molecular scissors’ in biotechnology’
(A) Polymerase ,
(B) Hydrolase
(C) Restriction enzyme
D) DNA ligase - :
A
HE Eemn ¥ 7
(A) e
g FVC—,
(85) {8 dwEy 9 TEIEH
©) Sy ;
65 Which w_w_h._.:o following forts is awarded-*Best:
destinatiomin India Silver Outlook Traveller Award, |
202277 (N i
(A) Hawamahal (B) Kumbhalgarh -
() Wmﬂrﬁ:ao_.m (D) Jaigarh
Frerfefe et # & fod i 2R o <o
e SEFIH TN IS 2022”7 § Fgren wW?
(A) T AB) Frrrs 2
(©) rphe (D) wrme
66 2024 w:mﬂmn Olympic Games will be hosted Uur.
(A) Paris™ (B) Moscow
(C) Qatar (D) Tokyo :
2024 % Aot sifahas et B Somrh a w2 |
AA) (B) it -
© F (D) ey
67 The wmnﬁwnm,_m E. Coli responsible for diarrhoea are: | .
(A) Gram hegative (B) Gram neutral
(C) Non-invasive (D) Gram positive
T & o satar €. s Siramy B ¥ -
(A) T oTE (B) 7 e
(C) =i grafes L\U% T YA
S
68 The _.mswn._e__m_..aog the following, belonging to the
lesser ijwm%mmu is -
(A) U:m,_”.__rm%ma (B) Mahabharat
(C) Given‘all” (D) Pir Panjal -
Prefefad-# & Fr-femrem & defm a3 -
(A) drafer (B) werma
© FEmA e D) I e
ce |
69 What :Ew_una must be added to each term of the

(A) 2 ¥, (B 3
© 4 R
1 N .
avs2] O \© o)
e *
¥ Yo ©
LS 8X,

rdtio 4 : 5,50 that it may become equal to 5 : 6?
AT 4 1.5.% TAH 98 F w1 W den L sy aiis
e I 5, 6 % AXEL & T ?

71

73

J.av e — AT
(D) du - g

i i f a triangl
If the altitudes from two vertices 0O |
the opposite sides are mocmr‘:._m: the triangle
(A) equilateral (B) _momnm_mm
(C) scalene (D) :m_:-mﬁm_mn—
fy we e & &1 et & wega genel o s

(A) &Mﬂlﬂqﬂm—
(C) faft — gt

I €, Brge ¥ -

(A) GwaETg L\_& THIEATE

(C) fawwarg (D) wHBIT

Frifepa & & REd WX ToE (TER) A W
foran ST %7

(A) dfeas B e

(C) sgEm® (D) fferar

Which blood type is a universal donor?
BT T FHTT AR 21ar e & 7
(A) Ot - (B) AB™:
(C) AB* D) O
Diamond is a -
. (A) Isomer of carbon
(B) - Isotope of carbon
(C) Isochore of carbon

(D) Allotrope of carbon
s ¥ -

(B) ®E @1 e
(9] ﬂ&aﬁﬂﬁﬂmﬂﬂ
ST -

: _mm_w_quﬁmﬁﬂﬂawwmn%mﬁﬁg
oo g 27, B) 14

6 18 ey B e i
#/ 6
(A) 20 oB) 2 i
(C) 24 (D) 19
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%\."o



. i - mﬂ.n_@.
i ¥ i 5 ﬁw._n arca o‘ MF_O C ]
here is a definite HOHN—.HO_._W_.:_U be ni

ionshi
problem- figures. Based on same relationship

choose the correct answer figure.

: g
2 sigpfl & 9 v Ffvad T
%ﬁ%ﬂﬂﬂﬁ_aﬁ%e@ﬂﬁﬂﬁ el

Problem Figures / wwen swatadt

O O[]

I (1) (11D (IV)
Answer Figures / St iG]

ofA] w[@] .
] wia]

87 ‘The'fire Lokayu

?

kta of Rajasthan was :

(A) K.PU. Menon (B) K.S. Sidhu
(C) E,W. Kaurani (D) 1LD. Dua
W Wb o
Mu FAy, dee (B) %ug, g,
(©) w2 gy (D) o 2. gan

88 The members of

through -
(I  Direct elections

(II) Indirect elections
(IIT) Nomination
(A) (D, (II) and

() (B) (1) and (1
(©) (M and (1)

(D) (1) and (11y
gﬂ%ﬁwﬁ%ﬂﬁﬂ?ﬂ%ﬂwf
D weae g &

(D) svews g @

(1I) s o

(A) (D), (IN) s (1) (B (IN) st (1)
&) eire D) @) s (1)

The difference between
and RNA js -
(A) presence of oxygen at 3-C
(B) absence of nitrogen at 3-C
(C) presence of nitrogen at 2-C
(D) absence of oxygen at 2-C
LU, ofiT @TT, % e o ¥ gy §
(A) 3-C W sifaiom & waRefy
B 3-C 9T T2 a7 e
(C) 2-C 9 2o & wulafy
(D) 2-C 9T oo &1 arvra

wﬂ.\mm_O\ »@«5\%

89

R o R

Legislative Council are appointed

stgar molecules of DNA

91

92

94

95

€ L W AREET
hat i
d 12 em. W
MMVna”om%ﬁ em? (B) 152m cm?

(C) 1927 em? (D) 9= nEm.wm |
awﬁmsgmﬂ%igaﬁw o
g diar Tar §1 T BT ASE T E 7 :

&& 100 &2 (B) 1527 v

(©) 1921 &2 (D) 967 qH?2

i 7 B are in the ratig

I nthly incomes of A and :
Mwmﬂmmo: Mn. them saves ¥ 600. If the a.mEo of
their expenditures is 3 : 2, then the monthly income
of B is - . 3
A T Bay Wit o K 423 @1 U ¥ DN |
@nﬂﬁugomﬂﬁwﬁﬂﬁ&wﬂwﬂiﬁﬂﬁ

oI 3:2 &, W B @y s Bl —
(A) T 2,000 ) T 1,800
(C) T 3,600 - - (D) T 2,400
Which function is used to calculate remainder in
MS Excel? .=
I Awoaanamc E BT % g wy UH uaEe §
BT W Gae i e W,w
+ (A) MOD() ) INT()
(© FACT() :

(D) DIv()

(A) Slide view

(B) Present
(© OE::.@. view

ation view

D : :
w_ﬂm@ﬂd.ﬂ 1, ol um«._m,_“%wmwoé view
Vﬂwu N X6 TR =g

©) ez =y ) W ot

. (Banswarayo

AMV wwm:mwm: (B) 1:6..:.“ mm_”wwm_:

© ﬂwﬂ: zmﬂmﬂ_.wﬂﬁ (D) Gajlakshm;

mﬁ...._, ] . orerepy BEEIE sy
m#mﬂ%ﬂx@&ﬂiﬂawwﬂ W
(A) wemmeh ) T

(©) amf oy (D) Mﬂaﬁwﬂﬂ

(A) Circle (B) .H_.wmaM_M?o_: L
(€) Square . (D) Cone

P ¥ ¥ 2w oy ¥ iy 39

A) T (B)
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96
gum in Rajasthan?
(A) Dhokra (B) Salar AMV No_&\m.ﬁ . (B) Ummnl«ﬂ.l!
(C) Khair (D) Teak _quwﬂ%?_m__m:_ (D) Kolu
frmifed el H ¥ B wr gy e ¥ e % fg | BT e )
s W &7 . (A) wraraa _Yﬁ%v =X
(a) s ) T Sl ©) wiq
(€) & (D) @FrEr
102 Usage of Microsoft clip gallery :
, (A) to spell check A
97 BaCl + Na,SO i
2(aq) 27 4 (aq) ivmpm.o_“ A%.TNZM_D_AE__ L (B) to add clip art pictures
an example of (C) to remove slide
(A) Double displacement reaction (D) to add word art
(B) Decomposition reaction ' e e AT F g
(C) Combination reaction (A) @ 9% & & fog
(D) Displacement reaction _.\mmm forry e fogadd @ley & fog
BaCly(,q) + NaSO, ) = BaSO, L +2NaCly, o) _ (C) wmes g & fg
(s) A (D) g€ @ wirgn & fg
Th TEET & —

..\@»\u. fr-framgw ataear &1 0 - 103 The chairman or the member of Rajasthan Public
(B) Tergior aitizear @ Service Commission can be removed earlier before
©) el st @ the completion of their tenure by -

(A) President (B) State Legislature
(D) e arfsfspar & - © Chief Minister (D) Gavernor
98 The rate at M{Enr information is transferred in a & %ﬂ%mﬂ% Mﬁﬁwﬂ“ﬁﬂdﬂ: %7
communication channel - - axx forerrr
(B) Nano rate ) T _. e ®) T
; (C) geg wEl & (D) =AU BT

(A) Bit rate
(D) Baud rate

(C) Pixel rate

%dﬂaﬂ:@iﬁﬁ»&ﬂ@ “ & -
FEadl & - _ " | 104 o g A T W &2
A e ®) e O e o
P - ) e e
i Translate the following sentence into Hindi :

e form of the Jaipur | 105
Women learn English faster than men.

AA) e gl | s s et e €

99 Which is the famous danc

Gharana? ® cthak
(A) Bharatnatyam S & .
(C) Kathakali 42) om_m_m. (B) %&iﬁ&fﬂa@ﬂ% s i
ﬁﬂﬂaﬁ%&%%aw. . (©) gt sl & ek oo e vt
(A) e C&U e (D) gou ol & st sl dre
(C) wumdl Y o . :
jocated 8t ——— 1 M“HE,NMQ”__% chairman of State Reorganization
i o Jocal 7
100 Guindy National Park amv e hennai g A 3 .
(A) Kolkata (B) = engaluru © V. Patel (B) Fazal Ali
©) Mumbai (%) ¥ ferd ¥ i e (D) H. Kunzru
e e T ok .Wﬂ Wﬂg T % e w47
v o' (o © & o A) o s
© 7 . (D) T2, g
‘ 11
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the Mewar

v > was
129 Under whose chm.mmnshlp ¢

Prajamandal founded i.n 19387
(A) Kapurchand Patni

(B) Jamnalal Bajaj

(C) 'Balwant Singh Mehta
(D) Nayanu Ram Sharma
Aars weTHvEE o) R e

g?

(A) HYLET Il

(B), ST ool
S awem fie de
(D) S 9l -

syemerar & 1938 H

-

g (A0

130 Any Kind of letter generally ends with @,

‘/Z\) Signature (B) Subscription _';
(C) Heading (D) Salutation

131 The Jain Granthas Harivansh Puran and

Kuvalyamala were composed during the reign of
Pratihar ruler

(A) Rambhadra

'(B) Mihir Bhoj
(C) Mabhindrapal 1

(D) Vatsaraj -

wRTET S A S T AR R
FENGT T e @ T gl
(A) Twg AB) i diw

©) tr%muuq ) T

| s [licasw~  ~=--
> instructmns and

k;lc))wgliilé speed (B) .Access time
( f

5 cycle (D) Data speed
(©) Processmg@‘;{ e A, A T
el €
i (B) woE@ Td
FrafT = (cycle) (D) ETARSIES

- h city, ‘Invest Rajasthan Summit’
e L]:g;ﬂ;fcll frgn 7-8 October 2922‘?
(A) Bikaner (B) Jaipur
(C) Kota (D) Jodhpur
7.8 arErRaT 2022 B BRE T | TR T i
o1 SIS fepaT AT ?
(A) daET - _,({) R
(C) o (D) shEgR

137 In which medical college of Rajasthan, Institu

of Paediatrics and Neonatology will be establishet
(A) SMS Medical College, Jaipur
(B) JK Lone Hospital, Kota

132 In how many districts of Rajasthan Tribal Area
. Development Scheme is being implemented?

(€) JLN Medical College, Ajmer
(D) SN Medical College, Jodhpur
T & fpg Afsea @i & fufsaiead ©

. el e @
PR o SNt i g FYSAT Pl S ol i ¢
P T T )E%) g{ﬂ-w‘w.ﬂrﬁswaﬂﬁﬁr}w
(A) 8 ﬁ) 10 ) %Fﬁﬁﬁvﬁ?ﬂaﬁa
(C) 12 D) 6 JO) uwy, Afseber wraT, arori
133 ‘Mahi Kanchan’ ' ®) T, tem e RLERE
ani : ¢ 1 s 1 2
varieties ::; SN;?iI;ll E;Ldp? Mahi. Bhaval are the 138 How 5 ' I
(A) Jowar B - ~Many member inated by !
(C) Gram ED)) g[;f;e Govel‘nor in the Legiﬁat&il\rx: (1)] Om:;[i]]a;f a Stat®
(A) 7T SB) W 5 EC) V2 of the total memberzh:p
(C) = (D) == '(D)) :j “é of the total membershig
, of the total] membershj
134 In which of the following distri ' EA Ry =5 l.p ‘Fﬁé
Shekhaji Armed Force Training Ec;ﬁsm Maharao ey o & ?W &1 Ty gy o fpa T
construction? Y 1S under (A) “Rﬁ. .
(8) Churs (B) Sikar U)o o T T w13
( anganagar (D) Bikaner ©) A @ @ 1/2
e et ™ Y00t | () ot 9 Yo 1 1
: . .
: DN & w5y
(A) 98 (B) ey 139‘ﬁwa _ o
(C) T O T (A) o N T gy 37
(©) e (B) affr
pvsz1 O 9 T ) <t



.chhappan Plain’ is situated in between -
(A) Banswara and Dungarpur

(®) Chittorgarh and Pratapgarh

© Pratapgarh and Banswara

(D) Banswara and Kushalgarh

rmmﬁm’ﬁﬂ_ﬁ%—
(D) T ST Fowme % dra

i Choose the correct option, for the. Passive
construction.

Everyone calls him a peacemaker.

(A) He is called to be everyone's peacemaker,
(B) He is called a peacemaker.

ﬁ) Everyone is called a peacemaker by him.
(D) A peacemaker he is called.

192 ‘SR o1 G wR-Rrebe & -
(A) 3 +Tuor ) O + T
(C) o+ um (D) & + Tuoy

143 The largest inhabited riverine island in the world
is situated in the river - ’

(A) Indus (B) Godawari

(C) Brahmaputra (D) Ganga _
foss o1 v wor o WA AT T
¥ R ¥ i

(A), fhg (B) werady

W) wwgs (D) Tm

144 Fill in the blank with appropriate determiner from
the options given below :

pen will do.

(B) Much

(D) Many

(A) Any
(C) Enough

l4s World's largest museum of Harappan Cplture is
being setup in -
(A) Kalibanga (B) Banwali ,
(C) Rakhigarhi (D) Lothal
T gegen S fagg @ GOY ST HUEWH g
1 s g g
A) e d
©) dnrey

(B) aarel |
(D) e §

146 “Kailash Sankhala’ was associated with -
(A) Bishnoi caste
(B) Tiger conservation
(C) Black deer conservation
(D) Snake conservation
‘BT wigen' gEhd & -
(A) fagg s &
JB) e we @
(C) &=t fexor d@aw &
(D) s wRaw A

147 An aggrieved person can file a writ petition for
the violation of fundamental rights in ;
(A) District Court only '
(B) Supreme Court only _
(C) High Court or ‘Supreme Court
(D) High Court only’ Gl T 8
wifeies Sl % & B9 oyt et Rz g
UST HT Gl T
(A) Saw e e &
(B) whaw Seaem = ®
AC) T Eed a1 Seaan Iy §
(D) %o Sew =m0

148 Which is the rank of R’éljastllan in India in terms
. of population in 2011? ‘ A
(A) 27 Rank (B) 12t Rank

(C) 8t Rank (D) 24th Rank

391 T P AT 1 gRe | TS @y 2011 F &N
qOHT R

(A) 274 wm (B) 123 %y

r}.(7.‘) 841 %y (D) 24 97 %y

149 Fill in the blank with the correct option.
The teacher taught us that the earth

round. _ ’
(A) were - (B) was
(C) are . (D) is

150 The .lens formula in Cartesian coordinate system
s — )
“where, u = object diS§a11¢e from optical center
v = image distance from optical center N
f = focus distance from optical center ">
&g Prderies oo A WF B OEH ¥ -
o, u = g $% o o @ gl

f=vali %7 8 Bew g l
1 11
iy ® 7
1 1,1
C) f=v+u (D)'T"u v \
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